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I ! : I . ' L I : I Question 1 (12 Marks) Use a SEPARATE writing booklet
Centre Number s B

, . @ Tf y=sin’3x find 2. g 2
LTI | o ’
, Studerit Number I
CATHOLIC SECONDARY SCHOOLS A IR .
ASSOCIATION OF NEW SOUTH WALES B (b) 4(-3,1), B(8,-2) and C(4,16) are the vertices of a triangle. AM is a median of - -
the triangle.
- 2007 . @) Show thatM has coordmates (6 7) 1
TRIAL HIGHER SCHOOL CERTIFICATE R
EXAMINATION (ii) Hence ﬁnd the coordmates of the pomt whlch divides the interval 4AM internally in 2
the ratio 2:1. :
a e m a Ics (c)(Q) Express x> —3x*+4 as aproduct of three linear faé'torsﬁbz};r first showing that (x~2) 2
is a factor of this polynomial.
1

Exte n s i o n 1 (ii) Hence solve the inequality x* —3x*+4>0.

. @
Afternoon Session A
Tuesday 14 August 2007 -
‘ NOT TO SCALE
General Instructions Total marks — 84 ) , B
e Attempt Questions 1-7
o Reading time — 5 minutes e All questions are of equal value
e  Working time — 2 hours E
¢ Write using blue or black pen
e Board-approved calculators
may be used N
o A table of standard integtals is : In the diagram, ABCD is a cyclic quadrilateral. E is a point on CD. produced.
provided separately (i) Give areason why ZADE=_/4BC. : ' ; 1 )
* All necessary working should . R
be shown in every question (ii) If AADE|||ACBA, show that AE| BD.

Disclaimer
Every effort has been made to prepare these ‘Trial’ Higher School Certificate Examinations in accordance with the Board of Studies documents,

Prmczples far Settmg HSC Exammatwnsm a Standards -Referenced Framework (BOS Bulletin, Vol 8, No 9, Nov/Dec. 1999), and Principles for
ions in a Standards Referenced Framework (BOS Bulletin, Vol 9, No 3, May 2000). No guarantee or

warranty is made or unphed that the “Trial” Examination papers mirror in every respect the actual HSC Examination question paper in any or all
courses to be éxamined. These papers do not constitute ‘advice’ nor can they be construed as authoritative interpretations of Board of Studies -
intentions. The CSSA accepts no liability for any rebance use or purpose related to these “Yrial” question papers. Advice on HSC examination issues

i§ only to be obtained from the NSW Board of Studies.
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Marks
Question 2 (12 Marks) Use a SEPARATE writing booklet
@ If y=loglL%J, where a>0 and N >0, showthat y=Ilog, N. 2
(b) Thelines y=mx and y=2mx, where m>0, are inclined to each other at an angle
6 such that tanf=1%.
(i) Show that 2m®—3m+1=0. 1
(i) Hence find the possible values of m. 2
(©)() Showthat tan2x+tanx=—S23% 2
COS2X COSX
(i) Hence solve the equation tan2x+tanx=0 for 0<x<%. 1
d PQ2ap,ap”), O(2aq,aq”) and RQ2ar,ar*), where p<gq<r, are three points on
i, ap p
the parabola x* =4ay.
(i) Use differentiation to show that the tangent to the parabola at Q has gradient q. 1
i) If'the chord PR is parallel to the tangent at O, show thatp, ¢ and » are consecutive 3
P

terms in an arithmetic sequence.

Question 3 (12 Marks) Use a SEPARATE writing booklet
() Find the number of ways in which the letters of the word EPSILON can be
" arranged in a straight line so that the three vowels are all next to each other.

(b)  Use Mathematical induction to show that 5" >3"+4" for all positive integers 7 3.

(c)  Consider the function f(x)=x+e™, x>0.

(i) Show that for all values of x>0, the function f(x) is increasing and the curve
y=f(x) is concave up.

(i) Sketch the graph of y = f(x) showing clearly the coordinates of the endpoint and the
equation of the asymptote.

(iif) On the same diagram, sketch the graph of the inverse function y = f 7(x).

(iv) Find the domain of the function g(x)= f(x)+ f (x).

Marks




Question 4 (12 Marks) Use a SEPARATE writing booklet
(a)( Show that the equation x*—2x~5=0 hasaroot ¢ suchthat 2<a<3.

(i) Use one application of Newton’s method and an initial approximation of 2 to find
the next approximation for «.

(b)(@) Sketch the graph of y =2sin"2x showing clearly the coordinates of the endpoints.

(i) Find the exact area of the region in the first quadrant bounded by the curve
y=2sin""2x, the y-axis and the line y=r.

u 1

¢)() Show that .
©0 1+ 1+4°

(i) Use the substitution x =12, ¥>0, to find f 11/;— dx.
+x

w,

Marks

Question 5 (12 Marks) Use a SEPARATE writing booklet

®

An egg timer in the sﬁape of an inverted right circular cone of semi vertical angle £
contains sand to a depth of % cm. The sand flows out of the apex of the cone at a
constant rate of 0-5cm’/s.

(i) Show that the volume Vem® of sand in the cone is givenby V=174,

(i) Find the value of 2 when the depth of sand in the egg timer is decreasing at a rate of
0-05cm/s, giving your answer correct to 2 decimal places.

(b)  Aparticle is moving in a straight line. At time #seconds it has displacement x metres

from a fixed point O on the line, velocity v ms™ given by v=—%x3 , and

acceleration g ms™. The particle is initially 2 metres to the right of O.
@) Showthat a=Zx’.
(ii) Find an expression for x in terms of ¢

(iii) Describe the limiting motion of the particle.

(© A gameis played by throwing three fair coins. The game is considered a failure if
all three coins show heads or all three coins show tails. Otherwise the game is
considered a success.

(i) Show that the probability of success in any play of the game is %.

(ii) Find the probability of exactly two successes in four plays of the game.

Marks




; Marks
Question 6 (12 Marks) Use a SEPARATE writing booklet

(@)  Attime tyears thearea 4km’ controlled by a colony of animals is given by
A=300-200¢* for some k>0.

() Sketch the graph of A4 as a function of ¢ showing clearly the initial and limiting. ' 2
areas controlled by the colony.

(ii) Find the value of % if the area controlled by the colony is increasing at a rate of 2
10kam® per year when this area is twice its initial value.

®
NOT TO SCALE

0 X
A particle is projected from a point O with speed ¥ ms™ at an angle @ above
the horizontal, where § < §<Z. It moves in a vertical plane under gravity where

the acceleration due to gravity is g ms™. Attime ¢ seconds its horizontal and
vertical displacements from O are x metres and y metres respectively.

(i) Use integration to show that x=Vtcos8 and y=Vtsind-Lgs’. 2
2

(ii) The particle takes T seconds to reach its greatest height A metres. Find expressions 2
for T and H interms of g, Vand 4.

(iii) The path of the particle is inclined at an angle § above the horizontal at time %T . 2
Show that = tan™' 4.

' {(iv) What fraction of its maximum height has the particle attained at time %T ? 2

Question 7 (12 Marks) Use a SEPARATE writing booklet

(8 A particle is moving in a straight line with Simple Harmonic motion. At time
t seconds it has displacement x metres from a fixed point O on the line, where
x=(cost +sinz)?, velocity v ms™ and acceleration a ms?.

(i) Show that a=—4(x-1).
(i) Find the extreme positions of the particle during its motion,

(iii) Find the time taken by the particle to move from one extreme position of its motion
to the other extreme position.

(iv) A second particle moves along a parallel straight line with Simple Harmonic motion so
that x=1-cost, where x metres is its displacement from a fixed point level with O.
During the first complete oscillation of the particle with the slower average speed, find
the number of times the particles pass each other, and state their relative directions of
travel on each occasion.

(b) () Considering the identity (l—t)" (1 + t)n = (1— tz)n, where 7 is a positive integer,

show that for integer values of 7,

i(-l)k "C,"C,, = (1) "C, provided 0<r<in.
k=0

(i) Hence show that i(—l)k "C"Cory =%(—1)r "C, {1+"C,} for 0<r<in,
k=0

10
(iif) Hence evaluate Z(—l)k (”’Ck)2 as a basic numeral.
k=0
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But 22’(_1)7: C Gy = (*l)r °C, for 0<r<in.
=0
2. (—1)’ "Cr =2z (_l)k an nCZr—k _ (_1)’ ncrncr
=0
)y ¢ +Erycre, = zzr: (-1)" "C,"C,_,
k=0

é(—l)k annC'Zr—k=%(_1)r "C+"C,} for 0sr<in.

)

10
iii. Substituting #=20 and r=10 gives Z:(—l)lr 2C1C ;= 1(—1 )’ %G, {1+2° o} since
k=0

10<2x20.
20 20
But *C,=*C,, for k=1,2,..,20.
Hence
1o '3 10
30 1 20, 20,
200 () =301 G i)
k=0
= % x184756 x184757
=17067482146
12
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CATHOLIC SECONDARY SCHOOLS ASSOCIATION
2007 TRIAL HIGHER SCHOOL CERTIFICATE EXAMINATION
MATHEMATICS EXTENSION 1

Question 1
a. Outcomes assessed : H5, PES
Marking Guidelines .
Criteria Marks
» applies the chain rule, writing one factor of the derivative as 2sin3x 1
® obtains the second factor 3cos3x (even if final simplification is not carried out) - 1
Answer
. y=sin*3x .'.%=2sin3x.3cos3x=3(28in3x cos3x)=3sin6x
b. Outcomes assessed : H5
Marking Guidelines
Criteria .| Marks
i o identifies M as the midpoint of BC and obtains its coordinates 1
ii @ finds the x coordinate of the division point 1
o finds the y coordinate of the division point v » L

Answer
i. Mis the midpoint of BC. Hence M has coordinates (8—‘2‘1 ,:Z;i“) = (6 ) 7)
ii.

A M
Gy 6)
-

Required point has coordinates G.5)

2 : 1
(2x6 + Ix(3)  2x7 + lle
2+1 ’ 2+1

- d for the pr Tonal assi of teaching staff. It dog# t
tention of the CSSA to provide specific marking outcomes for all possible Trial H§C answer
Alormation so they can better explore, understand and apply HSC marking requn'emt?nt

anty is i'li‘ade or implied with respect to the application or use of CSSA Marking Guili

S VY he C, Ml P, completen
fhé Trial “gfvsfjs_s—umes no liability nor responsibility for the accuracy, ! ene




c. Outcomes assessed : PE3
Marking Guidelines
Criteria

i e shows that (x—2) is a factor
e completes the factorisation
ii » solves the inequality

Answer
iLet P(x)=x’-3x"+4 . Then P(2)=8-12+4=0 .. (x-2) isafactor of P(x)
Then by inspection (or by division) x*-3x*+4= (x —2Xx2 —x— 2): (x - 2)2 (x + 1)

B

ii. Since (x —2)2 20 forallrealx, x*—3x*+42>0 whenever x+1>0:

et e g,

d. Outcomes assessed : PE2, PE3
Marking Guidelines
Criteria
i e quotes an appropriate geometrical property as a reason
ii @ uses the similarity to identify a pair of equal angles
¢ identifies equal alternate or corresponding angles using an appropriate circle | p C
® quotes an appropriate test for parallel lines to support the required deductlon,

Answer
i. In cyclic quadrilateral ABCD, the exterior angle ADE is equal to the mteno

ii. If AADE ||ACBA, thén LAED =/£CAB (corresponding L's in simila
But £LCAB=/CDB (/'s subtended at the circumference by the same arc BC are equal)
S LAED = /BDC ( both equal to ZCAB)

S AE|BD ( equal corresponding angles on transversal CDE )
Question 2
a. Outcomes assessed : H3 )
Marking Guidelines . 1
Criteria Marks
e converts the logarithm statement to an equivalent index statement 1
» after taking reciprocals, converts the index statement to an equivalent logarithm statement 1
Answer
1
The statement  y =log ; [—N— is equivalent to (I) =4
a
Taking reciprocals , =N s y=log, N
2
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“ . Outcomes assessed : P4, HS

Marking Guidelines
[ Criteria » Marks
i e uses the formula for the angle between two lines to obtain result 1
ii e factors quadratic expression 1
o writes down both possible values of m 1
Answer
i. @ is the acute angle between lines with gradients m and 2m, where m > 0.
I —
o i ”21= 6 = —m;=% Hence 2m®-3m+1=0.
1+ 2m 1+2m
ii. @n-TYm-1)=0 ~m=1,1
¢. Qutcomes assessed : HS
Marking Guidelines )
Criteria Marks
i & writes expressions for tan in terms of sin and cos 1
o takes a common denominator and recognises the expression for sine of an angle sum 1
ii e solves sin3x =0 in the required domain 1
Answer
i.
tan2x + tan y = SR2% , sinx ii. sin3x=0, 0<3x<3f = 3x=x
cos2x cosx Hence tan2x+tanx=0, O0<x<%
_ sin2xcosx +cos2x sinx has solution x=Z
cos2x cosx )
_ sin3x
cos2x cosx
d. Outcomes assessed : PE3, PE4, H5
Marking Guidelines
Criteria Marks
i e uses direct or parametric differentiation to establish result 1
ii » finds simplified expression for gradient of PR 1
* equates gradients of parallel lines 1
o rearranges relation to show p, g, » in arithmetic progression 1
Answer
- _ 1 2
L y= Ex
. &
T = —21—ax =g atQ
Hence tangent at Q has gradient g.
3
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a(rz— pZ) rip If PR is parallel to tangent at O
L= r+p=q

Za(r - p) 2 3
r+p=2q
r—g=4q-p
.. p, g, r are in arithmetic progression

ii. gradient PR=

Question 3
a. Outcomes assessed : PE3
Marking Guidelines
Criteria
o groups vowels and arranges 5 objects 1
o multiplies by number of arrangements of the 3 vowels 1
Answer
(EIO), P, S,L, N arranged in 5! ways, thenE, I, O in 3! ways. Hence 5!x3!=720 arrangements.
b. Outcomes assessed : HE2
Marking Guidelines
Criteria Marks
o defines a sequence of statements and establishes the truth of the first 5 >3° +4° 1
o writes an inequality for 5** in terms of 3% +4*, conditional on the truth of §' (k) 1
o works with this inequality to show that 5% > 3% 4 4%+ 1
» deduces the required result from the previous steps 1

Answer
Define the sequence of statements S(n): 5">3"+4" | n=3,4,5,...

Consider S(3): $£=125, F+4£=91=5>3+4  .5()is true.
If S(k) is true : 5853 4% wx
Consider S(k+ 1): sHl=5 5t
>5 (3" +4F )
=5.3+5.4
>3.354+4 4
= 3k+1 +4k+l

if S(k)is true, using **

Hence if S(k) is true, then S(k + 1) is true. But S(3) is true, hence S(4) is true, and then S(S) is true and

so on. Hence by Mathematical induction, 5" >3"+4” for all positive integers »n>3.

“The iq_fprm ﬁo_n,conmingd:jn this d isi ded for the professional assi: of teaching staff. It does not constitute advice to students. Further it is not
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c. Outcomes assessed : H5, HE4

Marking Guidelines
Criteria Marks
i e uses the first derivative to show the function is increasing 1
» uses the second derivative to show the curve is concave up 1
ii e sketches curve with correct shape showing the endpoint (0 . 1) 1
 shows the oblique asymptote with equation y =x 1
iii @ sketches the inverse as the reflection in the line y=x 1
iv e writes the domain of the function g 1
Answer ii., iii.
i f(x)=x+e"‘ , x20
f'(x)=1—-e" >0 for x>0
Hence function is increasing for x> 0.
f"(x):e"‘ >0 for x>0
Hence the curve is concave up for x> 0.
iv. Domain of g is the intersection
of the domains of f and f7.
.. g has domain {x:x 21}‘
Question 4
a. Outcomes assessed : PE3
Marking Guidelines
Criteria Marks
i e shows that expression is negative for x =2 and positive for x=3. 1
 uses the continuity of the function to deduce equation has a root between 2 and 3 1
ii e calculates the value of the derivative at x=2 1
o applies Newton’s method once to calculate the next approximation 1
Answer
i Let f(x)=x"-2x-5 i f(x)=3"-2=f'(@2)=10
Then f (2): 8-4-5=~1<0 Using Newton’s method, next
and f (3)= 2T —6-5=16>0 approfxi(l;l)ation for 1the root & is
But f is continuous. Hence there exists some 2- =0 =2 —}6 =2-1
real number o, 2< <3, such that f(a): 0. f ( )
5
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b. Outcomes assessed : HE4
Marking Guidelines
. Criteria Marks
i e sketches curve with correct shape and position 1
o shows the coordinates of the endpoints 1
ii ® writes an expression for the area as the definite integral of a function of y 1
¢ finds the primitive then evaluates the definite integral 1
Answer
L y ‘r ii. Area is 4 square units where 4 = L”x &.
¢ :
A= %sin(% y) dy
]
1
y=2sin 2x R
R ==[eosG2)];
[e x = —(cosf —cos 0)
=1
(_ _;_ , _”) Hence area is 1 square unit.
c. OQutcomes assessed : P4, HE6
Marking Guidelines
Criteria Marks
i e shows the required result 1
ii e writes du in terms of dx and writes integrand as a function of u 1
o finds primitive as a function of » 1
o substitutes for # in terms of x 1

Answer
i v ‘
2 ——dx= 2u du
v =gi’i_)__1 J1+x 144
1+t 1+4° o
1 =2 5 du
=1~ 1+u
1+ 4% 1
=2|11- 5| du
1+u
ii. x=u2 u>0 =2u-—tan'1u c
dx=2udu ( )+
=2(1/;—tan"1/;)+c
6
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Question 5
a. Qutcomes assessed : P4, HES, HE7

Marking Guidelines
Criteria Marks
i e expresses the radius of the cone of sand in terms of 2 then uses ¥ =1 zr*h 1
. av . dn 1
ii ® expresses — in terms of —
dt dt 1
» substitutes appropriate negative values for both of these derivatives 1
» calculates depth to required accuracy
Answer
i. The cone of sand has radius A tanZ . av > dh
ii. —=5m.3h —
‘ yelalln 2h dt dt
I, ..V—--_,;IZ'(V—?: ) _0.5=%”h2(_0.05)
=gzk’ 3%0-5 _ s
0-05x7
h=a2
Depth is 3-09 cm (to 2 dec. pl.)
b. Outcomes assessed : HES
Marking Guidelines
Criteria Marks
. . . . dv av* . . 1
i e writes g in terms of either & or ra to obtain required result
1
ii e integrates a and evaluates the constant to find # in terms of x
o rearranges to find x in terms of #, choosing the appropriate square root i
iii @ describes the limiting position, speed and acceleration as # — o

Answer
e I e
. a=%x5
\ ii. £=—lx3 t=0 c=-1 .'.x2‘=—4— and x>0 for £>0
a ¢ e = t—4 1 t+1
dt = e 2
—=-8x7 x Lx=
de te1=2 Vi+?
-2 2
t=4x"+c¢ X

iii. As ¢z — oo, the particle is moving left, approaching O and slowing down at an ever decreasing rate
with speed approaching 0.

7
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¢. Qutcomes assessed : HE3

b. Outcomes assessed : HE3

Marking Guidelines
Criteria Marks
i e writes an expression for the probability of success in terms of outcomes 1
o shows how this probability is calculated 1
ii @ recognises this as a binomial probability and writes corresponding numerical expression 1
o calculates this probability 1
Answer
ipP (success)= 1- {P (H »H,H )+ P (T ,I,T ) } ii. P(exactly 2 successes)= ‘C, (%)2(%)2
3 3 ] — 27
=1- {() +@y
=3
4
Question 6
a. Outcomes assessed : HE3
Marking Guidelines
Criteria Marks
i e sketches curve with correct shape and vertical intercept 100 1
o shows horizontal asymptote 4 =300 1
- 1
ii ® expresses % in terms of 4 and k£
o writes and solves an equation for k 1
Answer
i ii. 4=300-200e*"
AA dA s
300 = ~Heooe™)
= k(300 4)
10 = £(300-200)
100 k=01
o t
» 8
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Marking Guidelines
Criteria Marks
i euses integration to show result for x 1
e uses integration to show result for y 1
ii e finds expression for T’ 1
o find expression for H 1
jii e finds x and y when #=1T i
o deduces equality of horizontal and vertical components of velocity at this time to find & 1
iv e finds y when ¢ =1T 1
o expresses this y value as a fraction of H
Answer
i x=0 y=-g
x is constant " x=Vcosf y=—gt+c,
t=0 -
x=Vicosb+¢ . = =Vsind sy=Vsinf-gt
t=0 y= Vsin@
20 =¢=0 s x=Vtcost y=Vising-Lgf +c
’=0} = =0 . y=Visin-1g’
y=0
ii. At greatest height, y =0, y=H .
2
. i . Vsind
gT=Vsiné H=V(Vsm9)sm9—§g(—s—m—]
_Vsing g g
T g _ V?sin” 8
2g
iii. When ¢t =17,
. y=x
y=2Vsind 2sin@=cosd
x=Vcos tan =3
f=tan' 4
. : 2 2 12
. . [
iv. When #=1T, y=V(Vsm0]sm6'—%g Vsmﬁ) TV s =TH
4g 4g 32g
Hence particle has attained % of its maximum height.
9
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Question 7
a. Outcomes assessed : HE3
Marking Guidelines

Criteria Marks

i euses trigonometric identities to simplify expression for x 1
o finds second derivative then rearranges to obtain required result
ii e states both extreme positions
iii ® states time taken
iv e realises that the second particle with period 27 seconds has the slower average speed
e graphs x as a function of ¢ for both particles on the same axes and counts the intersections
(or solves simultaneous trigonometric equations) for 0<¢ <27z
e investigates the signs of the gradients of the graphs at the intersection points (or the values 1
of v at the solutions of the corresponding trigonometric equation) and relates these to the
relative directions of travel

[ W W

Answer
i x=(cost+sint)Z fi. ~1<sin2r<1

. 0<x <2, where x attains both extremes.

=cos’¢ +sin’¢ +2sin cost Extreme positions are O and the point 2m to
=1+sin2¢ right of O.
v =2c082¢ . L
. iii. Period of motion is 22 = 7z seconds.
a=-4sin2¢

Hence time taken is Z seconds.
= —4(x - 1)

iv. The second particle moves between extreme positions where x=0 and x =2, starting at x =0 and
taking 2z seconds for each complete oscillation, and hence has the slower average speed.

x4
Y
. 2
i x= (cosl + smt)
, . . x =1-—cost
z 7 3 27
[0 ) 2" /4 t

The 4 intersection points correspond to 4 times when the particles pass each other while the second
particle completes its first oscillation.
The gradient of the curve gives the velocity of the corresponding particle, and hence the sign of the
gradient gives the direction of the particle.
Hence on the first, second and fourth occasions that they pass each other they are travelling in opposite
directions, but on the third occasion they are travelling in the same direction.

b. Outéoniés assessed : PE6, HE3

iii ® substitutes appropriate values for » and r then uses (ii) to calculate given sum.

Marking Guidelines
Criteria Marks
i e applies Binomial expansions to (1-#)",(1+#)"and(1— £y 1
o equates coefficients of # on both sides of the identity to obtain required result 1
ii e realises that in the summation in (i), the terms given by k=r—j and k=r+ j are the 1
same for j=1,2,3,..,7
» uses this fact with appropriate rearrangement and regrouping to obtain required result %

Answer

i (-ty(+1) = (1—t2)" o
(-1 =1"Ct+CP = "C + ..+ (—l)’t "Ct* 4.+ 1) TC
(+1) =1'Ct #CF* + "CF +..4°Ct* +..4°C "
The term in #*" onthe LHS of ** is formed by adding the products of terms (—l)k "Ct*

Using the binomial expansion for each factor on the LHS,

and "C,,_,#”"* taken from the first and second expansions respectively in all possible ways.
Provided 27 <n, kcan take all the values 0,1, 2, ..., 2r when forming this product,

2r %
giving the coefficient of * as Z(—l) °C,"Cy s -
k=0
The binomial expansion of the RHS of ** gives the coefficient of " as (—l)r C.,.
Hence, provided 0<r S%n, equating coefficients of 7> on both sides of the identity ** gives

Zr:(—l)k "CCr = (_l)r C..

fi. For j=1,2,3..,7, (-1 7 °C"Cyry = (1)(1)’"6 C..,
=Y 1) "6 Cy

(1r+j "C

r+] r—j
r+] n, n
=( 1 Cr+] CZr’—(H»j)
Hence the terms in the sum obtained by putting k=r—j and k=r+ j are equal.

Z( 1) "G M—Z( 1} "C,"G,py + (1) "C7C,+ Z( 1) "CGys
=2Z(-1)" "C,"C,p e + (1) 7C7C,

= 22 (_1)k GG~ (_l)r 'C"C
k=0
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The information ined in this d is intended for the professional assi of teaching staff. It does not constitute advice to students. Further it is not
the intention of the CSSA to provide specific marking for all possible Trial HSC . Rather the purpose is to provide teachers with information

50 that they can better explore, understand and apply HSC marking requirements, as established by the NSW Board of Studies.

No guarantee nor warranty is made or implied with respect to the application or use of CSSA Marking Guidelines in relation to any specific trial exam question
or answer. The CSSA assumes no lisbility nor ibility for the Y, )l or useful of any Marking Guidelines provided for the Trial HSC
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